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03 Al & bl 242 0 242
1)YXI &8 Hol Xe A 242,000 242
2 21
2 121
OIS HAEIZE 280 23 77,746 57,511 20,235
101 @124t 38, 111 38,111 0
04 J12H2ENS B4 38,111 38,111 0
DIZAHAEZEZE)] (IS, Lo, Sa) 38,111
2)J123 64,0002 ¥90! 22 5304 A 34,560
2) N3 34,500,000+ 1.3% 449
2)AH T 2 B 34,500,000+0. 8% 276
2)2 =B 34,560,000+3.5% 1,210
2)-oEIIRYRH 1,210,000%5% 61
2)=plola 34,550,000+4. 5% 1,555
201 LBH2 | 39,635 19,400 20,235
02 2ZeH| 39,635 19,400 20,235
NEZRILHA 22,535
P)NTAHAEIZELEII2Y FII23
400,000+ 128 +30H 2 14,400
2)0ISAAEI| UBEHE 2,317,350 20 4,635
2)0ISAUABI| HBEHE 3,500,00024 3,500
A& ZHI R 9,000
2)0ISAIZEI| HHISRX 24|
1,000,000 *2CH 2,000
2)0ISAAEI| LSRRI
1,000,000+2CH 2,000
2)NTAHAEIZE 28I ANLRNHI(KS,
A, S 4t) 5,000,000 5,000
1) X2t Bt 8,100
2)0ISAAEI| AR 302/E*1002*1,7008 5,100
2)0ISAAEI SR 202161002 +1,5008 3,000
20117 3H 24 21131 4 01 Rl 2| 735,000 0 735,000
= 735,000
401 Al LS THY| 735,000 0 735,000
= 735,000
01 Al &t 730,370 0 730,370
1)2011 THoH M| 422l At
730,370, 0002 730,370
=2 730,370
03 Al& 2 CHH 4,630 0 4,630
1)2011 WM +HH2IALZ  4,630,0008 4,630
= 4,630
OlZe =AY 1,417,000 0 1,417,000




S A of At
M ey el
SRl oY YR Y 22| (Gt ® Q)
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
= 1,417,000
401 AIEHIZ 20| 1,417,000 0 1,417,000
= 1,417,000
01 Al&H| 1,390,644 0 1,390,644
NHEEE SAY 1,390,644 ,000& 1,390,644
= 1,390,644
02 22yl 21,255 0 21,255
NHEEE SAY 21,255,000& 21,255
= 21,255
03 AIE 20| 5,101 0 5,101
NOHEEE SIS 5,101,000& 5,101
= 5,101
ANostd 25 1,943, 186 1,145,425 797,761
2 100,000
& 500,000
= 253,000
iy 1,090, 186
e sk 2H 1,163, 188 685,265 477,923
= 100,000
= 233,000
iy 830, 188
g ate| JRF&A 274,040 19,540 254,500
201 L Et2HY| 43,507 1,840 41,667
01 AR 22/l 43,507 1,840 41,667
1) LBt H| 41,667
2)SXNESXY 2LIEHE X2 20,834,000 20,834
2)SXNESKNY NIREL ¥ 2z 291
20,833,000& 20,833
1) S | 1,840
2)EMME AL H2=X 1,840,000& 1,840
202 (4 Hi 17,700 17,700 0
01 2| 17,700 17,700 0
NEM2LIEHZ 70,000%3H x19! 3,990
N2MEMB2REILAAL2 X 70,000%3H x18! 3,780
NHLESXESKNEXE =& 70,000x3H x 14 2,940
NSANESRYE H&X AS  100,000x3H 10 3,000
NMSABEX A 2elz=& 70,000%x3H x 19 3,990
307 QI2t01 A 212,833 0 212,833
02 OI2tFAMNE X 212,833 0 212,833
M2 T2 e 4,500,000 4,500
)22 H20g L ME| 2UIHY S
48,333,000 48,333
1NEWHY XT3 AAE 2= S 80,000,000 80,000
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SA YL
HzH: THEtE 25
el ST L (el @)
S BB SR (B ) - MRAY - BAS Ofl At o d 5 HR=2
- T - = S = o = 0:”/&,% Wsa
NEHYE AL 29X S 80,000,000& 80,000
HESI BH 126, 148 165,725 N39,577
101 12| 12,188 11,565 623
4 D|12t 22 NSE s 12,188 11,565 623
1NMHSK ALAA 12,188
2)J1232 37,000% 12 »200! 7,400
2)J| LGt 7,400,0002%1/3 2,467
NE RS
6,560 *1H «10A| 2t+10H & 656
PAES == e 37,000& x1H x35F 1,295
Q)9 XNESEIIEE 37,000& x1H 10 370
201 et | 13,960 4,160 9,800
01 AFR 22l d] 8,160 4,160 4,000
1) Bt2H| 7,160
Q)SKNESKSE BEDOM ME Y EEX2 A
= 2,160,000 2,160
QMEABEINA 22 Y EE FoSSE A
& 5,000,000 5,000
1)= 2| 1,000
2Q)SKNESKE 2| =4 1,000,000 1,000
02 =294 5,800 0 5,800
N2Z2L2 YA 4,800
2)AIOFHEH MIE MO oHA 22| CHEH B
400,000& x12& 4,800
1) Al & ZHH| 8 X 8] 1,000
2)AOHHHAIE Al S XI22/Hl 1,000,000 1,000
307 B12t0| & 100,000 50,000 50,000
02 QIZ2tA A X 100,000 50,000 50,000
1)AI0F SHH S22 AIEIMIE 21HHl & 2|
100,000, 000& 100,000
MENGIHAE SJAAIS 167,000 0 167,000
= 100,000
o 67,000
401 A& HIZ 20| 167,000 0 167,000
= 100,000
o 67,000
01 Al & H| 165,798 0 165,798
1NEAMEKZ| MEISIEERAAS 165,798,000 165,798
= 99,280
o 66,518
03 Al&E =2 0HHI 1,202 0 1,202
1)E AR MEHSIEERALS 1,202,000 1,202
= 720




S of ek kDt
o Qjoisd 25
Sel: HESK 2 (ee:@a
- _ _ ME
SN B S2(BH) - HRAY - BES Off & o 0l A o1 HD=2
| = 482
Hg sz 596,000 0 596,000
= 233,000
= 363,000
307 2I2+01 & 100,000 0 100,000
= 50,000
= 50,000
02 UABAEE 100,000 0 100,000
N3 el 24 XA 100,000,000 100,000
= 50,000
z 50,000
401 Al HIL 2 THHI 496,000 0 496,000
== 183,000
2 313,000
01 Al&HI 493,364 0 493,364
NI SBAE Zol 363,364,000 363,364
< 181,682
= 181,682
NI SSAL Zo| 130,000,000 130,000
03 Al &S CHH 2,636 0 2,636
NEE3 SLAE FH| 2,636,000 2,636
= 1,318
z 1,318
M2 BEXY 22 67,000 48,160 18,840
= 20,000
= 47,000
M2 2EXY 22 27,000 48,160 21,160
307 2I12+01 & 27,000 0 27,000
02 UABAEE 27,000 0 27,000
)2 A SIS st&03 X 27,000,000 27,000
M2 BHXY 2el(2X) 40,000 0 40,000
= 20,000
= 20,000
201 Ler2 | 40,000 0 40,000
= 20,000
= 20,000
01 AtR2tel] 40,000 0 40,000
NRUAD M2 SN e
40,000,000 40,000
= 20,000
= 20,000
Epp2tel 612,998 412,000 200,998
= 500,000
= 112,998
2H BN =4 500,000 400,000 100,000




S ol 2= Akt
M. sy 9

el EA2a (ctel: &
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
= 500,000
401 Al HIS 2 CHYI 500,000 400,000 100,000
= 500,000
01 A& HI 488,550 389,560 98,990
N2H Z2M33xH 488,550, 000& 488,550
= 488,550
02 Zeltl 8,300 7,560 740
N=2H Z2M33xH 8,300,000& 8,300
= 8,300
03 Al 2 0Hd| 3,150 2,880 270
N2H Z2M33x4 3,150,000& 3,150
= 3,150
M 22l £ 112,998 8,000 104,998
201 et2dd| 7,500 8,000 A500
01 A2 2 2ldl 7,500 8,000 A500
1) et=2H| 3,000
)EMEE FNEAMTY Y ABZAMEDA
s 2,000,000& 2,000
2)ZMEMNES L AREEFLS
1,000,000& 1,000
NHIZA HAX(EEE S) BEs 82 7Y
1,500,000& 1,500
nexz 3,000
etz 600,000& *53] 3,000
202 44| 2,000 0 2,000
01 =2 WA bl 2,000 0 2,000
NEM22 L ZAIER2FA 2,000,000& 2,000
207 A IR 12,000 0 12,000
03 Al& o1 2| 12,000 0 12,000
DUFSEA BAIX =2 AEKH TR 12,000
2)0ISEX 30,0002 * 1507 4,500
2)01s82 =HEX 300,000 *15H 4,500
)/ S HEME 300,000 *10H 3,000
307 21Ztol ™ 91,498 0 91,498
02 gzt atex 91,498 0 91,498
N=H Z2MAZXE N 40,000,000& 40,000
NEQEHM =2 M 21,998,000& 21,998
Net=0tMEZ s §XXE 5,000, 000& 5,000
NEIELSTHM UWERD AIR= 22
20,000, 000& 20,000
DHISEM BHAIT 25 4,500,000 4,500
WURBRA NEFH 100,000 0 100,000
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SA YD
Hu: Jjol e
(o]

ol HYBRAIY AEEA (el a2
SN I SRI(S) - NRAY - B 0fl b Soe B RS2
HHEEZ =4 100,000 0 100,000

401 Al EHIZ 2OHY| 100,000 0 100,000

01 A& HI 100,000 0 100,000
NolYesz =4 100,000, 000& 100,000

HE2HZH|(SH==4T) 14,740 18,140 23,400

Jl23l 14,740 18, 140 23,400

Jl=&Hl 14,740 18,140 A3,400

201 get2Ad| 5,780 9,180 23,400

01 AR 2t 2ldl 5,780 9,180 23,400
NEA2Y MRESH 172 %200, 000& 3,400
NEA2Z =2l 17820 »7,000& 2,380

202 (44| 4,760 4,760 0

01 S LHAHbI 4,760 4,760 0
NeEA2E ol 17842 +70,000& 4,760

203 g =&l 4,200 4,200 0

04 BHE

R =2 4,200 4,200 0
& FEA2E 350,000 «128 4,200
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